
 EZO-X (UT-271/16) EZO-X (UT-271/16) 2  

B.Sc-7563-B   [ ¬ÛÀ¬ı˛¬ı˛ ¬Û‘á¬±˚˛ ^©Ü¬ı… B.Sc-7563-B 

¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

õ∂±Ìœø¬ı√…± ( Zoology ) 
√̇ ˜ ¬ÛS [ 10th Paper : Histology, 
Histochemistry and Endocrinology ] 

¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± ¬ Û”Ì«̃ ±Ú – 50 
Time : 2 hours Full Marks : 50 

[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 
Weightage of Marks : 70% 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º Œ˚-Œfl¡±ÀÚ± ≈√íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

 [fl¡]  ¬¸—¬ı˛é¬fl¡ ¬ıd ¬ı…¬ı √̋√±À¬ı˛¬ı˛ Î¬◊ÀV√√̇ … øfl¡ ∑ ’…±øÎ¬øÈ¬ˆ¬ › 

ÚÚ-’…±øÎ¬øÈ¬ˆ¬ ¸—¬ı˛é¬fl¡ ¬ıd¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡… Î¬◊À~‡ 

fl¡èÚº ’…±øÎ¬øÈ¬ˆ¬ › ÚÚ-’…±øÎ¬øÈ¬ˆ¬ ¸—¬ı˛é¬fl¡ ¬ıd¬ı˛ 

¤fl¡øÈ¬ fl¡À¬ı˛ Î¬◊√± √̋√¬ı˛Ì ø√Úº ¬ı≈̋ ◊√√Ú¸ƒ [¸—¬ı˛é¬fl¡] Ó¬¬ı˛˘-¤¬ı˛ 

Î¬◊¬Û±√±Ú&ø˘ øfl¡ øfl¡ ¤¬ı— øfl¡ ¬Ûø¬ı˛˜±ÀÌ Î¬◊¬Ûø¶öÓ¬      

Ô±Àfl¡ ∑ ˜¬ıĮ̂¬…±KI◊ øfl¡ ∑ 2  + 2 + 2  + 2 + 2     

 [‡¡]  ô¶Ú…¬Û±˚œ̨ õ∂±Ìœ¬ı˛ øÎ¬•§±˙À˚˛¬ı˛ ¢∂±øÙ¬˚˛±Ú Ù¬ø˘fl¡À˘¬ı˛ 
ø¬ıøˆ¬iß ’—˙&ø˘¬ı˛ ø‰¬ø˝êÓ¬ ø‰¬S¸˝√√ ¬ıÌ«Ú± ø√Úº 
ô¶Ú…¬Û±˚œ̨ õ∂±Ìœ¬ı˛ Ô±˝◊√√¬ı˛À˚̨Î¬ ¢∂øLö¬ı˛ fl¡˘±¶ö±Ú·Ó¬ ·Í¬Ú  
∆¬ıø˙©Ü… ¬ıÌ«Ú± fl¡èÚº fl¡¬ı˛¬Û±¸ ≈̆øÈ¬˚˛±˜ ¤¬ı— fl¡¬ı˛¬Û±¸ 
’…±˘ø¬ıfl¡±Úƒ¸ øfl¡ ∑   4  + 4 + 2        

 [·¡] ô¶Ú…¬Û±˚œ̨À√¬ı˛ qSê±˙À˚˛¬ı˛ ¸±¬ı˛ÀÈ¬±ø˘ Œfl¡±À¯∏¬ı˛ ·Í¬Ú·Ó¬ 
∆¬ıø˙©Ü… ¬ıÌ«Ú± fl¡èÚº ¸±¬ı˛ÀÈ¬±ø˘ Œfl¡±À¯∏¬ı˛ fl¡±Ê√&ø˘¬ı˛ 
Î¬◊À~‡ fl¡èÚº ô¶Ú…¬Û±˚œ̨ õ∂±ÌœÀ√¬ı˛ ’¢ü…±˙À˚˛¬ı˛             
’ôL–é¬¬ı˛± ’—À˙ ’¬ıø¶öÓ¬ α,  β ¤¬ı— δ Œfl¡±¯∏¸˜”À √̋√¬ı˛ 
‰¬±ø¬ı˛øSfl¡ ∆¬ıø˙©Ü… › fl¡±˚±«¬ıø˘ ¬ıÌ«Ú± fl¡èÚº  

   2 + 2 + 2 + 2 + 2   

 [‚¡] Sudan Black-B ¬ı± ¸≈√±Ú ¬ıv…±fl¡ ø¬ı ¬ı˛?fl¡ 
¬ÛXøÓ¬øÈ¬¬ı˛ Î¬◊ÀV˙…, ¬ı˛±¸±˚˛øÚfl¡ ∆¬ıø˙©Ü…, õ∂Ô± › 
Ù¬˘±Ù¬˘ ¬ıÌ«Ú± fl¡èÚº 2 + 3 + 3 + 2 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡¡]  ¬ı˛?fl¡ ^À¬ı…¬ı˛ ¸—:± › ∆¬ıø˙©Ü…&ø˘ ø˘‡≈Úº õ∂±ÌœÊ√±Ó¬ 
¤fl¡øÈ¬ ¬ı˛?fl¡ ^À¬ı…¬ı˛ Î¬◊√±˝√√¬ı˛Ì ø√Úº 1 + 4 + 1 

 [‡¡]  ¬ı±˜ÚQ, ’…±ÀSê±À˜·±ø˘ ¤¬ı— ∆√Ó¬…fl¡±˚˛Ó¬± Œ¬ı˛±·&ø˘¬ı˛ 
fl¡±¬ı˛Ì › ˘é¬Ì ø¬ı¬ı‘Ó¬ fl¡èÚº 2 + 2 + 2 

 [·¡]  ¬Û(±ƒ√ ø¬ÛÈ≈¬˝◊√√È¬±ø¬ı˛ / øÚÎ¬◊À¬ı˛± √̋√±˝◊√√À¬Û±Ù¬±˝◊√√ø¸¸ øÚ–¸‘Ó¬ 
√̋√¬ı˛À˜±Ú ¸˜”À √̋√¬ı˛ ∆Ê√¬ı-¬ı˛±¸±˚˛øÚfl¡ ∆¬ıø˙©Ü… › fl¡±˚±«¬ıø˘ 

ø¬ı¬ı‘Ó¬ fl¡èÚº 3 + 3  

 [‚¡]  Ô±˝◊√√̃ ±¸ ¢∂øLö¬ı˛ ’¬ı¶ö±Ú, fl¡˘±¶ö±øÚfl¡ ∆¬ıø˙©Ü… › 
fl¡±˚±«¬ıø˘ ø¬ı¬ı‘Ó¬ fl¡èÚº 1 + 2 + 3 
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 [„√√¡]  ’˜¬ı˛±¬ı˛ ’¬ı¶ö±Ú › ’ôL–é¬¬ı˛± ¬ıd&ø˘ ¸•ÛÀfl«¡ ø˘‡≈Úº 
ø˜|¢∂øLö ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ ¤fl¡øÈ¬ Î¬◊√±˝√√¬ı˛Ì ø√Úº 

   1 + 3 + 1 + 1 
 [‰¬√√¡]  ¸—øé¬5 È¬œfl¡± ø˘‡≈Ú – 
  ◊̋√√àò±¸ ‰¬ÀSê¬ı˛ ◊̋√√àò±¸ √̇ ±¬ı˛ ‰¬±ø¬ı˛øSfl¡ ∆¬ıø˙©Ü…, 

Sê±Ààø˙˚˛±¬ı˛ X-’e ¤¬ı— Œ˜È¬±ÀSê±˜…±øÈ¬fl¡    
¬ı˛ø?Ó¬fl¡¬ı˛Ì º 2 + 2 + 2 

3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛√øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 

 [fl¡] JG ’…±¬Û±À¬ı˛È¬±¸ øfl¡ ∑ ¤¬ı˛ fl¡±˚±«¬ıø˘ Î¬◊À~‡ fl¡èÚº  

   1
  

! 

1

2
 + 1

  

! 

1

2
   

 [‡] ¤fl¡øÈ¬ Œà¬ı˛À˚̨Î¬Ò˜π ˝√√¬ı˛À˜±ÀÚ¬ı˛ Ú±˜ ø˘‡≈Úº 
Œà¬ı˛À˚Į̂¬Ò˜π ˝√√¬ı˛À˜±ÀÚ¬ı˛ øSê˚̨±Àfl¡Ã˙˘ ¸—Àé¬À¬Û ¬ıÌ«Ú± 
fl¡èÚ º 1 + 2 

 [·] ¬Û±˝◊√√øÚ˚˛±˘ ¢∂øLö¬ı˛ ’¬ı¶ö±Ú › fl¡±˚±«¬ıø˘ ø¬ı¬ı‘Ó¬ fl¡èÚº  
   1 + 2    
 [‚] ◊̋√√àò±¸ ‰¬Sê › ¬ı˛Ê√–‰¬ÀSê¬ı˛ ”̃̆  ¬Û±Ô«fl¡…&ø˘ ø˘‡≈Úº 3 
 [„√√¡√√] Î¬±˚˛±À¬ıøÈ¬¸ Œ˜ø˘È¬±¸ › Î¬±˚˛±À¬ıøÈ¬¸ ˝◊√√Úø¸ø¬ÛÎ¬±À¸¬ı˛ 

¬Û±Ô«fl¡… ø˘‡≈Úº 3 

 [‰¬¬] Œ¬ı˛±È¬±ø¬ı˛ ˜± ◊̋√√ÀSê±ÀÈ¬±˜ øfl¡ ∑ ¤¬ı˛ ¸≈ø¬ıÒ± › 
’¸≈ø¬ıÒ±&ø˘ ø˘‡≈Úº 1 + 1 + 1 

 [Â√¬¬] Ê≈√Àˆ¬Ú±˝◊√√̆  √̋√¬ı˛À˜±Ú, ¤fl¡Î¬±˝◊√√̧ Ú-¤¬ı˛ Î¬◊»¸ ¤¬ı— fl¡±ÀÊ√¬ı˛ 

Î¬◊À~‡ fl¡èÚº 1
  

! 

1

2
 + 1

  

! 

1

2
   

 [Ê√] fl¡…±ÀÈ¬Àfl¡±˘±ø˜Ú fl¡±¬ı˛± ∑ ¤À√¬ı˛ fl¡±Ê√ øfl¡ ∑  1 + 2 

( English Version ) 

1. Answer any two questions  : 10 × 2 = 20 

 (a) What is the objective of using fixatives ? 

Mention the differences between 

additive and non-additive fixatives. Give 

one example of each. What are the 

constituents of Bouin's fixative and 

their proportion ? What is mordant ? 

   2 + 2 + 2 + 2 + 2   

 (b) Describe the different parts of 

mammalian Graafian follicle with a 

suitable labelled diagram. Describe the 

histological structure of thyroid gland 

of mammals. What is corpus luteum 

and corpus albicans.  4 + 4 + 2 

 (c) Describe the structural features of 

Sertoli cell of mammalian testis. State 

the functions of Sertolli cell. Discuss 

the features and functions of α,  β and  

δ  cells of the endocrine pancreas of 

mammals. 2 + 2 + 2 + 2 + 2    

 (d) Describe the purpose, chemical 

aspects, process and result of Sudan 

Black-B method. 2 + 3 + 3 + 2 
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2. Answer any three questions. 6 × 3 = 18 

 (a) Write the definition of the term 'dye' 

and characteristics of dyes. Give an 

example of animal originated dye.  

   1 + 4 + 1 

 (b) State the causes and symptoms of the 

following diseases — dwarfism, 

acromegaly and gigantism. 2 + 2 + 2 

 (c) Mention the biochemical characteristics 

and functions of hormones secreted 

from posterior pituitary/ 

neurohypophysis. 3 + 3 

 (d) State the location, histological features 

and functions of thymus gland.  

   1 + 2 + 3 

 (e) Write down about the location and 

endocrine products of placenta. What 

do you mean by mixed gland ? Give one 

example. 1 + 3 + 1 + 1 

 (f) Write short notes on the following : 

  Characteristic features of estrous phase 

of estrous cycle, X organ of Crustacea 

and metachromatic staining. 

   2 + 2 + 2 

3. Answer any four questions. 3 × 4 = 12 

 (a) What is JG apparatus  ? Mention its 

functions. 1
  

! 

1

2
 + 1

  

! 

1

2
 

 (b) Write down the name of one steroid 

hormone. Describe the mode of action 

of steroid hormones in brief. 1 + 2 

 (c) State the location and functions of 

pineal gland. 1 + 2 

 (d) Write down the main differences 

between estrous cycle and menstrual 

cycle. 3 
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 (e) Distinguish between diabetes mellitus 

and diabetes insipidus. 3 

 (f) What is Rotary microtome ? Mention its 

advantages and disadvantages. 1 + 1 + 1 

 (g) Write down the source and functions of 

juvenile hormone and ecdysone.  

   1
  

! 

1

2
 + 1

  

! 

1

2
 

 (h) What are catecholamines ? Mention 

their functions. 1 + 2   
    


